© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

54042205 HANSAMIX - Waschtischbatterie

EAN: 4015474076730

statichansa.com/54042205

Ersatzteile
SP54042205
Name Art.-Nr.

1 Hebel 5990548875
11 Schraube, M5x8, SW2.5 59904755
12 Kunststoffadapter 59904778
13 Dekorkappe Grau 59912112
2 Abdeckkappe Chrom 59912638
3 Ringschraube, M50x1, SW45 59904775
31 0-Ring, d 43x2.5 59911166
4 Kartusche, 4.8 eco 59904601
41 Warmwasser Begrenzer 59904759
53 Dichtung, 37x48x3.5 59911422
55 Befestigungsplatte 59904765
56 Schraube, M8x1, SW13 59904766
5.7 Befestigungssatz 59910749
5.8 Schlauch 59912709
5.9 AnschluBschlauch, L=430, G3/8-M10x1 59912515
510 Dichtung, 9.5x14.4x2 59912551
51 0-Ring, d 7.65x1.78 59902337
512 Befestigungsschraube, M8x1, L=140 59912474
6 Luftsprudler, M24x1 STD HC A Chrom 59902366
6.1 Luftsprudler, M22/24 A 59902081
8 Kettenhalter 59902219
N.I. Anschlussrohr, L=430, M10x1 59912550

1


https://static.hansa.com/54042205

